Endocrine

A 56 year old man who has type 2 diabetes mellitus undergoes routine physical examination.  Fundoscopy (not shown) reveals several microaneurysms and an occasonal hard exudate.  Which is the best option to prevent blindness in this patient?

A. Improving glycaemic control.

B. Improving blood pressure control.

C. Laser photocoagulation.

D. Measure urinary microalbumin.

E. Repeat fundoscopy in 6 months.

A 64 year old woman who has had hypertension and type 2 diabetes, both for 15 years, presents complaining of diplopia.  Physical examination is unremakable except for a right third nerve palsy with sparing of the pupil.  What is the most likely cause of the third neve palsy?

A. Cavernous sinus thrombosis.

B. Right midbrain haemorrhage.

C. Diabetes.

D. Hypertension.

E. Myasthenia gravis.

A 79 year has a bone scan.

(hgh signal proximal femora to nerly mid-shaft, high signal in several other places, shown)

What is the most likely explanation for this appearance?

A. Bilateral hip fractures

B. Multiple myeloma

C. Pagets disease

D. Bony metastases

E. Osteoporosis

A 64 year old woman develops sudden back pain while lifting two buckets of water.  Plain lateral radiograph of thoracolumbar spine (osteopenia+wedge fracture T12 vertebral body, shown)

Blood tests given:

FBC


mild normocytic anaemia, mild lymphopaenia

Calcium

normal

Phospate

normal

Protein 

mildly low

Albumin 

low normal

Immunoglbulins
mildly low

IgG


low

Other Ig subclasses
mildly low or low normal


DEXA scan:

Hip


T score -2.0

Lumbar Spine

T score -4.0

What is the most appropriate next investigation?

A. Serum parathyroid hormone

B. 1, 25 dihydroxy vitamin D

C. Mammography

D. CA19 9 assay

E. Urinary protein electrophoresis

A 54 year old man has a blood test for insurance purposes and a calcium is 2.98 mmoL.  Phosphate, albumin and parathyroid hormone are all in the normal range.  He does not recall ever having a urinary stone and is otherwise well.  He does recall that his mother had high calcium.  What investigation shold be perfomed next?

A. PTHrP assay

B. 24 hour urinary calcium excretion

C. MRI of the pituitary gland

D. Serum ACE

E. CXR

A 58 year old woman presents with a neck swelling.  Examination reveals a multinodular goitre.  She is clinically and biochemically euthyroid.  A radioiodine uptake scan (not shown) shows diffuse uptake except for a predomintant cold nodule in the right lobe of the thyroid.  A fine needle aspirate contains numerous follicular cells but no malignant cells are detected.  What is the best management?

A. Repeat fine needle aspiration

B. Right thyroid lobectomy

C. Total thyroidectomy

D. Thyroxine therapy

E. Radioiodine thyroid ablation therapy

A 49 year old woman who is takinig nortriptylline for depression and HRT for hot flushes has a prolactin level of 1900.  Thyroxine and TSH normal, short synacthen test: appropriate ris in cortisol, LH and FSH both slightly low.  What is the most likely reason for the elevated prolactin level?

A. Pituitary prolacinoma

B. Chromophobe pituitary adenoma

C. Depression

D. Nortriptylline therapy

E. Hormone replacement therapy

A 56 year old man has had persistently elevated blood pressure.  Clinical examination is unremarkable except for blood pressure of  190/95 mmHg.  Blood test results:

Na

140

K

3.0

Cl

110

Creatinine
0.076

Urea

4.5

Serum aldosterone
high

Plasm renin activity
low

What test sould be performed next?

A. 24 hour urinary aldosterone

B. Renal ultrasound scan

C. ACTH

D. CT of adrenal glands

E. MRI of pituitary gland

Cardiology

A 34 year old man presents with a sudden onset of central chest pain.  His blood pressure is 90/60 and he feels slightly lightheaded.  An ECG is taken.

(probably VT, rate 180/min, shown)

What is the best management option at this point?

A. DC cardioversion

B. Lignocaine

C. Amiodarone

D. Streptokinase

E. Digoxin

A doppler echocardiogram is recorded across the mitral valve.  (Mitral stenosis, shown)

What is the most likely condition?

A. Aortic stenosis

B. Aortic regurgitation

C. Mitral regurgitation

D. Mitral steosis

E. Aortic stenosis plus aortic regurgitation

A 17 year old woman has had several episodes of sudden lightheadedness and trainsient loss of conscoiusness, each lastin around 2 minutes.  Her initial rhythm strip is shown (looks like Torsades des Pointes)  30 seconds later, her heart rhythm changes and a 12 lead ECG is taken (shown, sinus bradycardia, long QT interval, even after correcting for the bradycadia)  What is the best long-term tratment?

A. Implantable cardioverter-defibrillator

B. Permanent pacemaker

C. Sotalol 

D. Amiodarone

E. Reassurance

A patient presents with severe central chest pain. An ECG is obtained (ST segment elevation in inferior and lateral leads, heart rate 80/min, shown)  Streptokinase is administered and he is admitted to the coronary care unit.  Four hours later, he suddenly feels unwell.  BP now 75 mmHg by palpation. A second ECG is done (some resolution of ST elevation, heart rate 45/min, shown)  Which option best improves his long term prognosis?

A. Permanent pacemaker

B. Temporary pacing

C. Acute angiography/angioplasty

D. Intravenous fluid resuscitation

E. Administration of tPA

What is the most likely cause of death after 6 months post cardiac transplantation?

A. Rejection

B. Infection

C. Coronary artery disease

D. Malignancy

E. Congestive heart failure

Rheumatology

A 77 year old woman has symptoms of temporal arteritis which is confirmed by temporal artery biopsy.  A DEXA scan gives a T score of –3.0.  No previous fractures.  What is the best treatment option for this woman?

A. Predinsone 40mg/day

B. Prednisone 40mg/day and HRT

C. Prednisone 40mg/day and alendronate

D. Prednisone 7mg/day

E. Prednisone 40mg alternate days

A 54 year old woman has had rheumatoid arthritis for many years, treated with methotrexate and low dose prednisone.  She smokes one packet of cigarettes a day and drinks 5 units of alcohol a day.  She presents with a peripheral neuropathy in the feet and several reddish, purpuric or vasculitic lesions are seen in both hands on examination.  Many blood test results given, mild anaemia, normocytic, normal WBC count and differential, ESR slightly elevated, (e.g. 50) no other blood tests diagnostic.  What is the most likely diagnosis?

A. Vitamin B12 deficiency

B. Amyloidosis

C. Methotrexate toxicity

D. Alcohol induced neuropathy

E. Churg Strauss syndrome

A 44 year old diabetic man presents has the following x-ray taken

(chondrocalcinosis of triangular ligament)

What is the diagnosis?

A. Hyperparathyroidism

B. Pseudogout

C. Haemochromatosis

D. Familial hypocalciuric hypercalcaemia

A 56 year old man presents with fatigue, muscle weakness, Raynaud’s phenomenon and shortness of breath.  He is found to have moderate interstitial lung disease.  Anti Jo-1 antibodies are strongly positive.  What is the diagnosis?

A. Dermatomyositis

B. Systemic lupus erythematosis

C. Polymyosistis (antisynthetase syndrome)

D. Scleroderma

E. Mixed connective tissue disease

A woman who has had a child with congenital complete heart block is pregnant again and concerned that this child may also have congential complete heart block.  Which test would you order for the newborn baby?

A. ANA

B. ENAs

C. C-ANCA

D. Antimitochondrial antibodies

E. Anti-smooth muscle antibodies

A 55 yaer old man has been taking allopurinol 300mg/day for gout prophylaxis.  He presents with acute gout of the right wrist and left knee.  Uric acid normal, creatinine 0.185  What is the best management?

A. Stop allopurinol and start colchicine 1.2mg initially then 0.6 mg hourly until relief or diarrhoea occurs

B. Stop allopurinol and start prednisone 30mg/day

C. Stop allopurinol and start naproxen, restart allopurinol 100mg/day once symptoms settle

D. Continue allopurinol 300mg/day and start prednisone 30 mg/day

E. Reduce allopurinol to 100mg/day and start naproxen 500 mg b.d.

What clinical feature best differentiates polymyositis from inclusion body myositis?

A. Deltoid muscle weakness

B. Weakness of long finger flexors

C. Quadriceps weakness

D. Weakness of torso

E. Weakness of periorbital muscles

Gastroenterology

A 35 year old man is found to have a low platelet count and , on examination, splenomegaly.  He is asymptomatic.  Past medical history is unremakable except that he suffere a severe beating to the abdomen aged 17, resulting in pancreatitis.  A CT of the abdomen is shown (CT confirms splenomegaly, there is an irregular, spiculated, 4 cm heavily calcified mass in the abdomen, 10 cm anterior to the aorta )

What is the cause of his thrombocytopaenia?

A. Pancreatic pseudocyst

B. Cholangiocarcinoma

C. Colorectal carcinoma

D. Portal vein thrombosis

E. Immune thrombocytopaenic purpura

A patient with Crohn’s disease is trested with prednisone and goes into remission.  Which drug is best for keeping the patient in remission?

A. Prednisone

B. Salazopyrin

C. Metronidazole

D. Azatioprine

E. Indomethacin

Extra questions

A 35 year old man was born with transposition of the graet arteries but had a corrective operation when young.  His ECG is shown (RBBB, RVH, axis 240 degrees)  What is the correct interpretation of this ECG?

RBBB

RVH

Axis(degrees)

A. Yes
Yes

60

B. No

Yes

60

C. Yes
Yes

240

D. No

No

240

E. Yes
No

140

What is the most important factor in predicting risk of oesophageal varices bleeding?

A. Portal vein pressure

B. Cherry red spots on varices

C. Childs-Pugh classification

D. Gastric versus oesphageal varices

A woman with breast cancer presents with leg weakness and bladder dysfunction.  A MRI of the lower thoracic spine is shown (mass, 4x1 cm, poserior to and compressing the spinal cord, within the thecal space)  What is the best treatment option?

A. Radiotherapy

B. Chemotherapy

C. Surgery

D. Anti-oestrogen therapy

A 40 year old man presents with vomiting.  He is diabetic and 5 years ago had a peptic ulcer at the gastric outlet.  A plain abdominal x-ray is shown (erect film, air-fluid levels in the stomach and duodenum, absence of distal gas)  What is the diagnosis?

A. Diabetic gastroparesis

B. Gastric outlet obstruction

C. Small bowel obstruction

A 33 year old man presents with a testicular mass which is confirmed to be a nonseminomatous germ cell tumour.  He has a testicular excision.  CT (not shown) shows several paraaortic masses, largest 3 cm, as well as two 2cm mediastianl masses.  He undergoes 3 cycles of chemotherapy and a repeat CT (also not shown) now shows no paraaortic masses, however the medistinal masses have not changed in size.  What is the next management?

A. One further cycle of chemotherapy

B. Radiotherapy to the mediastinal masses

C. Regular follow-up

D. Open biopsy of the left mediastinal mass

What is the mechanism of gentamicin renal toxicity?

A. Glomerulopathy

B. Proximal collecting tubular cell toxicity

C. Post renal obstruction by tubular epithelial cell swelling

D. Papillary necrosis

E. Interstitial nephritis







